dwiint swody
wGnaniw

PwjnnG uGnwil
pnLuGnhnuydwl
hwdwn

Pwjnnt uGnwuh
hwdwnpUuunwnpwU

Puwijint Lutnwpuwl

LntuwunnituGn
UuinGnwnnpnid

Swllwwwn,
Jntinphnwnuwwu, nnn
U inGnwinpnd

Uhwynp

wGnaniw

wlwy

10

o i

.
L T
i E—— e

Uhwynph
wndtp 33 Cunwdbtlup
nhwJ 33 npwd
750,000 750,000
120,000 360,000
88,000 528,000
112,000 448,000
220,000 880,000
35,000 3,850,000
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Uhwynph
wndtp 33 Cunwdybtlup

hlug Uhwynp Lwlwy nhwJ 33 npwd
Pwiint pwndpwgywd wwnwnbq 24 60,000 1,440,000
wwnwunbqubn

Uwnihp wdwq fud/ m3 35 13,700 479,500
Ubdunwlagniejwl inGuwfughy 4 95,000 380,000
inGuwfughy b Unbunwdnid

Snnwihb waofuwwnwlupltn, pd/m2 1200 480 576,000
Lwfuwwwunnpwunwuwl

w2fuwwnwlplbn

Uprpwlywl nwnwdwn 1 280,000 280,000
LuunwpwllGnpny

yGpwlywluqunid

SGnGHwunwwl untun 1 180,000 180,000
SGnGHwwnwywl 5 30,000 150,000
gnigwliwy

2niqgwnwlh yGpwlunpnagnid 1 330,000 330,000
Uwijw 15 1,500 22,500
Pwh 5 4,000 20,000
Luwnbnt hwdwpuwont 15 3,000 45000
Utywunnn I 10 3,000 30,000
UuinyGpwglnn gwlg 50 1100 55,000
Swppw 02| 200 100 20,000
Swppw 0,5 200 200 40,000
dnglu 5 3,000 15,000
Mwunhy nGpwnphnd 2 15,000 30,000
S nypGugGUunwihu jwdw 5 4,000 20,000
tnnighs 1 35,000 35000

Cunwditlup
®nfuwndtip’ 1UUL nnjwn = Q] O 21 4 O 0 0
389.61 I3 npwid ’ ’
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